Z
<
J)

n
0 Q "] =
o 'Y R © 2 - i
[=] “w m — - r w
S 8 ° - f .
8 R = = - 8 ! L2651
- - I 180'zol | - L L18G] VIA
= COV ST TS ' TR | °
=
o< +—DW \ - i . 8
-« D MO1 ! ) 006'6S | 2
= m m BSYNOJYILVM LNIVILSN __~ 91029 __ 96'85] &
“rF2gg 4 ] +6°651 f =
S, Em22 / 8 / S20'091
2'Fy T8 § ! glozaL | 2 ! BE6G1
8 1 ¥ 8 . yosl |t /
i - g / - / 3 -
ZefodL o / ) ! 05109t X S
oZ _ i €20°291 “ £9'6G51 &l |
mm 2 ) 60'191 ! i
= ‘291 130A8 \ a w i ‘091 i
-3 e - ! 681291 |8 w2 ! SLo8 gdo
T6YL90+ 1 || :SOANE { yg001 * ¥ i . m m m
/ Al - o =
! Ead / ogyos |- | ZWO
m ! yLETIL < 92091 - =
L oy'191 Zo S
o i <] Ve =iy
M/ 8 € ‘ 525091 suzl2e
i BEYZIL o i £G'191 axersy
I 8191 H | g% W 24
9ZY T 3IPAT | - \ g ANnES o
N oAd ! . L 0S9°091 Tleezu]l =z .Am
£S9°766+01 {S | B¥S Tl \ 0191 dFF $ ot
~ } £L181 \ “lus2] a2
>4 | = o _ _._D._ =
] 1 o B
a9 5 \ SLL'O9L 202 o
S¥En \ A T 89°091 czt138
=48 o ! By 191 o } Soudlcx
oMaog Q B - \ 310 xg
o8 g \ \ e B
gl = n [ W m __ G8SC9 | } 62001 H _Dln (@) glud
o= T8 ! L0'191 { =152%|ch
iz 'y 4 \ 2z3| =
T B @ld T ” oiszal | 8 1—09 A\ nuwow_%__ g 0
O Zi _ 1 o - . Ch o
wm 3¢ __ ¥8°081 m SUNOOYIIVM INVIISNDD MOT / . k= m
£35 i / osiiel |8 3
I 69920} 3DA ! zsTa) - ze00l | &
= I 96'001 g / =
“A78+01 [SO ] S
7597478 / m a m SLT'I9L
! 012291 7 09'091
i Seigl & ! o
) - \ 3
| | oar'ioL |8
! Lv0'2a1 % gTosl |k
/ v9°191 ha
' 8 / S28°191
i G88°19l @ f 0S'091
18'19) E / .
o
! ¢ 0s9'l9L | & \| \(A
“’ zzL 19l _, #9091 *
L 5029t \ pa
1
i 2 \ SLL191
\ ogslal | 12 50051
A 68191 +
\ =4 ; Rou
] 006191 |8
L6€°L91 : G001 *
< [ANT]S / pa
-
- 8 __‘ sz0°Zol
\ seclol LIl
. ¥6°9G1 & ] 5
vz—hrL 5 - / )
F ] N ostzol |8
I$ANOOEIIVM INIVHISNOY WIad ’ o zL0'L91 / ST TR
86 8G1L \ -
1
a { SLZ'Z91
oleoal | & 0z'Z9t
10°6SL & o
! oovzel | R
; LL°091L = ¥
7 82'651 =
1
i g $TaTol
% ssoal | 3 8L'z9t
8709} 3 _ .
\ 0sgz9L | R
A cey ol L LB L9k *
C B88'6G} \ =
1 \
gl 2 \ sLL291
gl 092031 | w Y 96'091
: SL65) 3 \ .
1 - D
\ c—dL \ /TR -
| £60°091 SYNOOYIIVA INVAISNDD MOT | Zvoal | * 2
" oc'6gl | = 0
i =] ! S20'c91L
\ sceesl |3 ) £G'091 o
___ 66'8S1 & ] o g
pust I -
\ / osL'El m 2
\ 2LL6SL i [Tiat I o
/ $£°8C1 i pay
\ o ! .
) GLT'T9l =
/ oest | 2 / 10°Z9L e
7 zLagl & ] o N
| oar'sol |13
/ LYY 651 Zv 7ol +
17651 =
\ . -
. m L8P°¢9|L 303 / NNm..M.m_.
3 S8z 8s) + ) '9C°Z0G+ 1| (SOAT Yy VL7191
N 9,881 & o ] °
\ SRS ! Lessol |3
\ zTL65! gyaf \ oglar |t
£9°/Gt - 8o ) __ s
\ - =)
N\ 2 1E-lv e E \ 609°c9L
-3l = DGOl 1% g_=al'8 3 _ sl
ISUNGOSI VM INIVEIINOD HAH 7 €/'9G1 + s, . 1 . ' .
- : D 1
/ 25 FEEx T | segoL |2
i mam__ Qsws ! 8¢'191 x
B£°LS asda | g
I o [}
’ / o1 |8 7& (8¥'s|l 1309 L | sovsal
! Ge9 7 - :soAg \ 66091
7 16°S1 3 ¢8czep Ll kY o
\ veee9L | Q
cresi . — coosl | *
18 o =
° o TEUN0OTILFM INIVATSNOD [RATGIN F
- ] y 8619
LLe'egl 30AF OLEBSL | o # 66081
L1'8G1 o> i Q
i i " ! vioe9L |8
121851 ! ¥E191 *
8 o LiBal v b
a3 s, o / .
Ire) © / 6¥8'29L
ThHag B o8gsgL | & ! 69°101
o3l T8 e 80°8G| & / °
[ - / . =1
I = / ¥28T91 ]
28 5 [85°LS) |/ iczel | % p3
EHSx Sv'LSI m | - 0
z 3 e, |8 669791 &)
cigLcL Joag NM‘FN Mmm_ w 0929} M
- \ - \ g
cozvL+ol :Son =N \ viczoL | &
o) £98°9G1 \ 86’191 r
SIl8'9SL {30A3 Z9'9G1 \ - V|A
\
Q 619 1Z1+0| SOA3 J o \ 629l
2R osses |2 S 81191
o e m 9 LS'951 & \ ° =
g mw,u.o.so ¢ \ vzez9l | & g
- 258 3 8 Q g 1] s8e9s1 v BS091 X OR
5 > __H._HZ. " I L9'9G1 / -
g ag ¥ 5 _ 2 661291 r—
@ co g4l g \ lecosL | 8 T a5l 4+
g Zo|gm 3> ¥ 06'SG | b3 N o H
7 =& { " = . 180791 |2
ax z g , { 295961 o zov|i9l+1L|:S0A3 ca6al |+
2 Sz $96'96 1 |30 v $8'581 N —hn } -
=i o) O~ N 1
2. 6v5'L20+0L ‘SOAg 8~ g doRy HSSNOOYILVM LNIVEISNGD MOT J
ey =l 08,961 |5 = RE Sy 3 © 2
m g B _ 0 frest E & = i i NEISLEONE\S
e = 1 © © n - - Ling £2.608-Zp\08~21)
] N [ - 1S3 Y Bciiei0l oL




